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B. Com. (Parl LLI} EXAMINATION, 2011

{10+2+3 Pattern) rtuonline.com (Enculty of Commerce}

ACCOUNTANCY AND BUSINESS STATISTICS

Second Poper (Manogement Accounting)
PART-1 (Objective)

Time : One Hour Maximuom Marks: 40

Attempt oll Questions. WMt ¥ & I Sy )
Answer the fallowing questions in nat more than 20 wards each.
Each questian carries 2 marks. id = 2
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(u)

(u15)

{1v)

(v}

{¥1)

{vii}

Cefine Managemen? ACCounung.

Uo-g TEET w IO Fe |

Wnle the pames of any [our theones of capital stoucture,
Jait woaar & Fasi wn fagrel < = fafao)

Give anv twn characteristics of Financizl Leverage.
T e & w1 & fodrmand ez

What is qualitative cencept of working cupital ?
FTATA §A FT [ORAF ATETOW F R

Give any four names of fictitious assets.

qr,ﬁ-q wufwdl & wiF 9 WW adry ) rtuonline.com
Crive the name of five actvity ratios,

i fFawitea eTTaAl & M gy

Define the Fund Flow Statement,

% varr faeom =1 gy sifam)

{viz} Give the formula for calculating cost of redeemable prefer-
©¢nce ghares,

v e S w1 A T T W g 90y
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fix) What 15 meant by responsibtlity accounting
AW AEFA D 2T A0 AT &
1%y Debine activiey hased costing, rtuonline.com
T saE gred eaias 1 afoafia #1)
Answer each of the following question in o maximum of S0 waords.
Each gquestion carcies 4 marcks, 5xd4
Fefelas veis g 397 s so vl ¥ Fitw |y
UPd 4 3w X
(i} Grve five advaniapes of managemen accountiag.
WIS @R F HE WA T A
() Whid s deflference belween caprial siructure and (naacial
structiure ?
9] HTIN ©F faita g o s v
(i) When does fTow of funds take place 7
FOl ST w4 ww E
(%) Expla:n iwo diflerences belwesr caoriieal reports amd mfor-
ManoN rRpors.
framm wfmsy of sen 3o d =3 9 #n e wifm
vy Fmd e the weyhne D average cost of capital from the foi
bowiny mluroriiwn
Frafafas =t | 1l F1 Wi st e 3 s

Amount After Tax Cost
R of Capital
Fagauty share capitald 3 0,000 A5
Prefercnce share copital B TER LN )
Debentures & 50,000 HI
Remained Larmmes 2 AU ) {he
PART-AUH (DESCRIPTIVE) rtuonline.com
Two Hours Maxaoumm Mark 1 of)

Acterapt three gquestions in all, selecting vne question from vach
Secling, Fach question carries 2 marks,

Tl NATE A Y F TTA FTA KU Ewl 617 9vEl b 397 ifan |
Wdlis, gF Th 20 WFR ¥ rtuonline.com
sosupplementiey answer-book will e given 1w any candidie. Henee
the: candidstes should write the answer precksely in the mamin answer

ook only



(2)

el v} TNl w1 W IE-qie AT &7 SE 0 3 G
ey i A yam T o <) aoa wEl & 3w
All the pans of one guesuon should be answered at one place 1in
the answer-book. One complete gquestion should not be woswerzd
at different ploces in the answer-book rtuonline.com

el it T WYA % aTva 8 o fafum ae & s T g |
AT - HEAT F4TH] 9% 7 4t & oA OF € S 9w i

Section-A { WTE-—-37 }
@)  The following data relate (o the companics A and B which
are of homogeneous groups. rtuonline.ccom  1{]

frefafas @ A v B wtEi @ w=afan # 9t uw #f o
LA g

A B
Net operaling income "~ Rs. 30,060 Rs. 50,0040
Owerall cost of capital 12.5% - 125%
3% debentures Rs. 200000

T FAEE 3G (NOD fazra ¥ e # oY 1 159 19
FAY, 70 | Gl T AV T WA A |
Culculaie value ¢f compaaes under Nel Operating Income
Theory unu also conpute cost of eguity capil.

by Shiviun Erderpnises has o urnover of Rs, 15,00,004, Vanable
cosiis B 800,000 while Nxed cost is Rs. 300,000, Deben-
ture worth Rs. 300,003 at 12% per annum. Calculrie operat-
tng, Ninancial and combined leverape. Rate of lax s S0%.
Fra veam e #1 ©9 fawa e 6. 15,00,000 ¥ ) wiadaEe
HTMA ¥, §,00,000 9H W= AVIE ¥, 3,00,000 AR 3,00,200
F (2% mite Bm-13 ¥ | WEER, faHE an S e
F T & T | T W ST S0% B

The Board of Directors of Jai Engineering [Ltd. requase vonn 1o pre-

parc a starement shaowing the working the working capital require-

merts. Porecast lor an expected level of prodoction 1s 26 (A toanes,

The tuthew ing informaton is available for your compuration,

1V i FeAfice ) Ao ee e e 5 80 snavnaars

%1 TR g T faame dan = # mdE & I ] yAias e

1 oafa vt 26,000 73 X1 AR MO & AU Tefeiem gEe

Euca i g
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Fivw matesial & rentan iy stock on an average
Frocess perked

Permanent material in process

Finished goody i stock

Cradet & allowed o cusiomcrs

Expected rolwo I mialerad o sales price
Wages and overheads

Selling prce per 1on rtuonline.com

section-B (@ -8 )

fa) From the Fellowime imeome staement of "X Ll

FICH S12G 1RCOIMe Stalemont.

dwicksy

2 weeks
D Lomgs
fow LR
Honooks
Fira.

RILE

Bw. 3!

Prepart o eame-

T fAfyrz & ol amm Eae g mae aew ang faw

HE0;
Incoree Staenienl
{lor the year enching V=320 115

2049
rtuonline.com Amuunt We.

(iross sales L AR.O04
Eess: Sales retoen RRLLY
Net sales 1.35,000
Less - Cost of Goods ~odd R2.000
Circiks Proiie S 3001
Cperaling Expenses ;
Rales Expenses 27, U0H)
Add @ Administranon Expenses 13,5040
Total Expenses ), 504
Income from operation 12,500
Add : {nher Incomes 1 5.00H]
Total Tneome I 4,01
Lass - Other Expunses 2 (}Hl
Net Income 12,000

-

210

Ampunt Ks.
1.65.0M1

3.5

I.61.500
o), QO
71500

20,000
| %000
43,.4H)
L&, 50H)

2 [HH}

18,5

3, [HX}

15,000

{b) From ghe following items of the asscts side of the balanve sheet
of ARCed for the penod from 31.3-2007 1o 31.3-2010. Calculate
trag! percentages taking 2007 ag the base year
1&g foafaez % 31-3-2007 R 31-3-2010 7% & fag & "4
w frefafan w3f 8 2007 1 e od s wgfn wiaed =t o



Ason st March (Rs. in DO0)

ASsets 2047 2003 2004 2910
Cush 41 60 30 70
Debtors 20 40 30 14
Suxk 50 TS &0 0
Other Current Assets 200 10 25 M)

| snd and RBuilding 400 500 & 600
Furmiture LE 106 6l 100
Plant & Machinary LIN) 125 130 [ 50
Total Asscts 710 g0 O8S 14035

(a) A firm had current asscls of Rs. [,50,000. It thea paid 4 current
ligbslity of Rs. 30,000. After the payment, the ratio was 2 : |. What
were the current liabilities before the payment was made

us ®d wHE wafeal Fo150,000 ¥ oqwk A v 0000 F wq
zifgwl &1 YA 18 T YR & 9E S 20 9 YT E
-ﬁ ﬁmﬁ;ﬁ f&aq1 § 7 rtuonline.com
(h} Current hahilities = Rs. 40 (0N

Capital employed = 4,000,000

Fixed Assets = 2,80,000.

Calculate current ratio, assumng that there were no long-term in-
VesSIments.

e =fa=r 5. 0,000, fafzaifas < 5. 4,00,000; Wt syl w.
2 30,000
A ATV ®T A AT WAL L R Sl fahm A

(c) From the following information calculate cash from operating

Activities: rtuonline.com

Fr=rferfem ge=nsl 4 9faem T 8 % & T wife:
2009 2010
J1st March 31st March
Rs R
Proft & Loss Appropoalion a/c 20,00 30,000
General Reserve 30,060 35,000
Biila feartvables [ 4,060 18,000
Fruvition [or depreciation 30,000 34,000
Outstanding Rent Payoble 1,630 4,000
Prepaid [nsurance 1 44K) 1,206

Cinodwill 20,040 16,01



258% diseount factor,

-

Sk I+ 000 | ¥, 00K
Accrued Incame AU} .].',?5”
Incame received 1o Advange |, 25} SN
An okl machine costung Bs. 20,000 Eaving hook vabse of Bs 140k
was sodd for Bs PR A0 during the year 20100, rtuonline.com
T 2010 F FIA E. 20,000 F1 AT F]UE P HTHE T8 gRIE
TEE T.14,000 @, T, 16 000 ul ;;'Tfh rtuonline.com

section-C ([ WIUE-H )
Lazmi Plasue Lol desites w purchase a new machiag in order 1o
inerease 105 present ievel i prodacuon, The cost of machine will
he Rs. 50,000 and ner moome afier x b before depreciation
during its life wall be as follaws:
Uit d A FO AR § 1 TEE F E 5, 50,000 €0 sl sad Slagae
T T TR A w0 0 g s frefefen e g

Year Ner Income after tax heloge depreciation
Hg

I 19,00

2 240,004

3 £, 000

4 15,000

5 10,000

Evaluate the rouject sccording 10 ;

{1) Net present value method (assuming disecunt rare 16%)

{13 Intermnil rate OF return of the project wath e help of 20% and
- . e . ) rtuonline.com
qftdi=-1 |1 gegies A fGvyd § aqgr +ifag .

(ir g Fae qee fafy (s 31 16% =T g9

iy g F1 swmfis wmm 27 206 #1250 =77 27 & wErr

Year | 2 3 4 5

Discoun: Factor m 16% 0862 0743 0.63]1 0552 (47¢
Miscosmi Factor at 20% 0.833 06% (570 0482 0402
Drdesunt Factor ad 25%  DLBOD 0640 0512 0410 (O.325%
AMiunmum rate ol retarn bad down by the management i 16% p.a.

sanveslinent desicable? Give yonr supgestion

gH¥ BN 78 ol T g Yy v | 6o mieer ¥ | s Fatrim At

B 7 AT HgEmA dtfa)



®. Write shor neies on ithe [ollowng:

(i) Kesponsitility Keparting  rtuonline.com
(1] Investment centre

(i) Management Information Systens

(v} Cost Drivec

Fetfotfas g0 dfiga Tewfngl faliay

(1) sawifora wfad==

(7) Tafram S

(3) Ty == U

(4} TIRTS e

rtuonline.com



